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22 24 2
2020
2012
2020
10.1-44
g/km
NOx PM HC
No. 40kn/h 0.725 0.014261 0.007
0.053 0.000757 0.016
22 24 2
24 3
1 1 2
=V x——x——x N. xE.
Q=Y 3600 1000 Zl:( o xE)

Q (me/m s mg/m s)

E, (g/km )

N 7))

V, (mL/g mg/g)

20 1 523mL/g
20 1 1000mg/g
( 24 Y( 25
)
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3 2021
16 Im
1
@
10.1-45 4
3
0.12ppmC
10.1-45
ppm 0.012
ppm 0.009
mg/m? 0.013
ppmC 0.12
6)
10.1-46
0.00019ppm 0.00033ppm
0.00001mg/m®*  0.00002mg/m® 0.00002ppmC  0.00003ppmC
0.00990ppm  0.01102ppm 0.01307mg/m?
0.01314mg/m* 0.12015ppmC  0.12031ppmC
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10.1-46(1)

ppm

0.00155 0.00028 0.01083

0.00170 0.00031 0.01102

0.00150 0.00029 0.01079

0.00146 0.00029 0.01075

0-009 0.00080 0.00023 0.01003

0.00071 0.00019 0.00990

0.00148 0.00031 0.01079

0.00157 0.00033 0.01090

10.1-46(2)

mg/m?

0.00011 0.00002 0.01312

0.00012 0.00002 0.01314

0.00010 0.00002 0.01312

0.00010 0.00002 0.01312

0-013 0.00006 0.00002 0.01307

0.00005 0.00001 0.01307

0.00010 0.00002 0.01312

0.00011 0.00002 0.01313

10.1-46(3)

ppmC

0.00026 0.00002 0.12028

0.00028 0.00003 0.12031

0.00024 0.00002 0.12026

0.00024 0.00002 0.12026

0-12 0.00015 0.00002 0.12017

0.00013 0.00002 0.12015

0.00025 0.00003 0.12028

0.00026 0.00003 0.12029
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Ca(x) = a- (u/ug)™ - (x/x0)"¢

24

Ca(x) 1
1.5m
1
x m 1.5
t/km?/m?/
a
1 m?
t/km?/m?/
u m/s
U im/s
b 1
m
Xo
c
16 (%2
Ry = Nu-Ndj nf Cy(x)xdxdb /A
Iy
% X2 u\-b x\~¢
Ny - Nqg f_%Ll a (uo) <x0) xdxdf /A
Rgs t/km?/
N,
N, /
Ug m/s ug  1m/s
X1
X2
X1,%y Am X1,Xy Am
A m
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t/km?/8h

17,000

2.0

0.04

13,000

2.0

25

24

10.1-48

10.1-48

10.1-21

11,517

10,112

7,415

2,753

3,371

1,798

2,079
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22 26
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VoC
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10.1-22

v

v

VoC
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1
1
Hy
He
He = Hy + AH
AH
CONCAWE
CONCAWE Briggs
CONCAWE
AH = 0.175 - QyY/? - u=3/4
AH m
Qy cal/s (=p-C,-Q-AT)
m/s
p 0 1.293><10° g/m?
Cp 0.24cal/K g
Q m/s
AT 15
Briggs
AH = 1.4-QyY* - (d6/dz)~3/8
dé/dz 0.003 /m 0.010 /m
CONCAWE Briggs
AH, CONCAWE m
AHg Briggs m

12

10.1-57

AH

12
Briggs

12



3)

1km

4)

5)

365

10.1-23

31m

1.5m

10.1-58

24

+1m

+32m



HtmEE
QIR
HESEY
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1:10,000
0 100 200 300 400
[ e

10.1-23

10.1-59




szGsxS

Qr kL/
G ha
S kL/ha
S
2020 3 8
30 lha
10.1-52
2 4 3
10.1-53
10.1-53
lha
S 10.1-53
10.1-52 lha
lha
ha /ha
/
13,029,070 4,482.23 2,906.83
2020 3 8
10.1-53
kL/ L/ L/ kL/ha
><10%/ ><(0.99 > /1000
21,488.29 1,649.26 1,632.76 4,746.17
1kL 0.99kL
4 3
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10.1-54

10.1-54
1 1
kL/ha ha kL/ kL/h
< /(365><24)
1-1 4,746.17 3.38 16,042.0 1.83
1-2 4,746.17 1.68 7,973.6 0.91
1-3 4,746.17 1.93 9,160.1 1.05
2 4,746.17 0.69 3,274.9 0.37
3 4,746.17 2.03 9,634.7 1.10
4 4,746.17 3.47 16,469.2 1.88
6 4,746.17 2.12 10,061.9 1.15
7 4,746.17 3.39 16,089.5 1.84
365 24
)
10.1-55
10.1-56
m3N/h
kg/10%kcal < kL/h
=< kcal/L > 22.4/46 10"
m3N/h
kL/h > kg/L < > 22.4/32 x=<10°
9 12
kg/h
kg/kL < kL/h
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10.1-55

10.1-62

NOX s
kg/10%kcal kg/kL
0.5 23.48 1.146
1: JIS K 2205
2:
3:
1. 12 12
2. 11 8
10.1-56
kg/L kcal/L mé,/L
0.84 9,390 11.4
12 12
10.1-57
10.1-57
kL/h mé/h mé/h mé/h g/h
1-1 1.83 20,877 1.9661 5.3840 2.0987 218
1-2 0.91 10,377 0.9772 2.6761 1.0431 218
1-3 1.05 11,921 1.1227 3.0743 1.1983 218
2 0.37 4,262 0.4014 1.0991 0.4284 218
3 1.10 12,538 1.1808 3.2336 1.2604 218
4 1.88 21,433 2.0185 5.5273 2.1545 218
6 1.15 13,094 1.2332 3.3769 1.3163 218
7 1.84 20,938 1.9719 5.3999 2.1049 218
2
30 3 30




VoC

VoC

voC

10.1-58 VOC

VOC ppmC
1,400 60

NOX NO,

[NO,] = [NO,p - [1 - —={exp(=Kt) + B}

1+p
[NO,] (ppm)
[NO, ] (ppm)
a [NO] 7/ [NOx] 0.83
B 0.3 0
K
K =0.0062 - u - [03]pc
[03]g6 ppm
t S
t=x/u
X m
u m/s
5 28 2

[03] (ppm)
[04] (ppm)
[NO,] (ppm)

10.1-63
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10.1-59

1
4
3
10.1-59
ppm 0.009
ppm 0.001
mg/m? 0.013
ppmC 0.12
6)
10.1-60
10.1-24 10.1-27
0.00125ppm 0.00341ppm
0.00133mg/m* 0.03540ppmC
100m
0.01025ppm
0.00441ppm 0.01433mg/m?
0.15540ppmC
10.1-60

opi 0.009 0.00125 0.01025
opi 0.001 0.00341 0.00441
mg/m’ 0.013 0.00133 0.01433
opnC 0.12 0.03540 0.15540
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D
2)

2
3)

2
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10.1-61(1)

6 a7 207 32 259 11 44 8 55 58 251 40 314 98 565
7 50 410 50 607 12 87 12 129 62 497 62 736 124| 1,233
8 49 365 51 397 12 77 12 84 61 442 63 481 124 923
9 81 177 73 230 20 38 18 49 101 215 91 279 192 494
10 61 155 60 268 15 33 15 57 76 188 75 325 151 513
11 62 200 79 238 15 42 19 51 77 242 98 289 175 531
12 59 204 61 227 14 43 15 48 73 247 76 275 149 522
13 56 212 71 215 14 45 17 46 70 257 88 261 158 518
14 64 237 62 237 16 50 15 50 80 287 7 287 157 574
15 76 273 61 204 19 58 15 43 95 331 76 247 171 578
16 46 328 58 265 11 70 14 56 57 398 72 321 129 719
17 38 458 32 326 9 97 8 69 47 555 40 395 87 950
18 24 359 21 317 6 76 5 67 30 435 26 384 56 819
19 24 256 26 196 6 54 6 42 30 310 32 238 62 548
20 16 172 17 129 4 36 4 27 20 208 21 156 41 364
21 13 117 13 82 3 25 3 17 16 142 16 99 32 241
22 11 49 8 34 3 10 2 7 14 59 10 41 24 100
23 15 19 18 36 4 4 4 8 19 23 22 44 41 67
0 4 22 4 24 1 5 1 5 5 27 5 29 10 56
1 4 15 4 9 1 3 1 2 5 18 5 11 10 29
2 4 12 10 21 1 3 2 4 5 15 12 25 17 40
3 9 13 6 17 2 3 1 4 11 16 7 21 18 37
4 15 26 24 34 4 6 6 7 19 32 30 41 49 73
5 29 78 23 77 7 17 6 16 36 95 29 93 65 188

857| 4,364 864| 4,449 210 926 209 943| 1,067 5,290 1,073| 5,392| 2,140( 10,682

10.1-61(2)

6 41 214 35 259 18 94 15 114 59 308 50 373 109 681
7 42 423 28 408 18 186 12 180 60 609 40 588 100| 1,197
8 71 330 32 285 31 145 14 125 102 475 46 410 148 885
9 67 215 58 173 30 95 26 76 97 310 84 249 181 559
10 67 177 65 189 30 78 29 83 97 255 94 272 191 527
11 69 176 50 158 30 e 22 70 99 253 72 228 171 481
12 58 175 50 149 26 e 22 66 84 252 72 215 156 467
13 45 169 63 171 20 74 28 75 65 243 91 246 156 489
14 57 172 53 198 25 76 23 87 82 248 76 285 158 533
15 49 206 55 222 22 91 24 98 71 297 79 320 150 617
16 27 237 45 206 12 104 20 91 39 341 65 297 104 638
17 24 307 43 283 11 135 19 125 35 442 62 408 97 850
18 27 357 24 294 12 157 11 129 39 514 35 423 74 937
19 40 244 37 205 18 107 16 90 58 351 53 295 111 646
20 12 159 14 124 5 70 6 55 17 229 20 179 37 408
21 12 115 5 87 5 51 2 38 17 166 7 125 24 291
22 14 56 10 45 6 25 4 20 20 81 14 65 34 146
23 13 28 13 34 6 12 6 15 19 40 19 49 38 89
0 10 20 9 10 4 9 4 4 14 29 13 14 27 43
1 14 16 11 10 6 7 5 4 20 23 16 14 36 37
2 14 8 14 19 6 4 6 8 20 12 20 27 40 39
3 9 11 13 18 4 5 6 8 13 16 19 26 32 42
4 19 24 12 43 8 11 5 19 27 35 17 62 44 97
5 23 68 29 91 10 30 13 40 33 98 42 131 75 229

824| 3,907 768| 3,681 363 1,720 338| 1,620| 1,187| 5,627| 1,106| 5,301 2,293| 10,928

10.1-70




10.1-61(3)

6 28 155 38 147 7 33 9 31 35 188 47 178 82 366
7 40 355 39 296 10 75 10 63 50 430 49 359 99 789
8 44 372 33 272 11 79 8 58 55 451 41 330 96 781
9 45 163 49 177 11 35 12 38 56 198 61 215 117 413
10 45 171 48 146 11 36 12 31 56 207 60 177 116 384
11 52 197 47 180 13 42 11 38 65 239 58 218 123 457
12 43 200 26 179 10 42 6 38 53 242 32 217 85 459
13 a7 190 42 174 11 40 10 37 58 230 52 211 110 441
14 45 181 44 207 11 38 11 44 56 219 55 251 111 470
15 36 179 26 185 9 38 6 39 45 217 32 224 77 441
16 28 212 27 263 7 45 7 56 35 257 34 319 69 576
17 15 244 16 329 4 52 4 70 19 296 20 399 39 695
18 13 267 14 305 3 57 3 65 16 324 17 370 33 694
19 10 187 9 227 2 40 2 48 12 227 11 275 23 502
20 13 133 9 114 3 28 2 24 16 161 11 138 27 299
21 11 100 15 78 3 21 4 17 14 121 19 95 33 216
22 11 37 6 35 3 8 1 7 14 45 7 42 21 87
23 14 22 11 12 3 5 3 3 17 27 14 15 31 42
0 7 20 9 18 2 4 2 4 9 24 11 22 20 46
1 7 10 4 10 2 2 1 2 9 12 5 12 14 24
2 6 6 5 18 1 1 1 4 7 7 6 22 13 29
3 7 6 9 17 2 1 2 4 9 7 11 21 20 28
4 17 18 8 16 4 4 2 3 21 22 10 19 31 41
5 19 55 19 40 5 12 5 8 24 67 24 48 48 115

603| 3,480 553| 3,445 148 738 134 732 751| 4,218 687| 4,177| 1,438| 8,395

10.1-61(4)

6 39 277 34 237 17 122 15 104 56 399 49 341 105 740
7 55 523 35 449 24 230 15 198 79 753 50 647 129| 1,400
8 24 295 52 271 11 130 23 119 35 425 75 390 110 815
9 36 145 44 165 16 64 19 73 52 209 63 238 115 447
10 a7 165 73 207 21 73 32 91 68 238 105 298 173 536
11 59 135 71 198 26 59 31 87 85 194 102 285 187 479
12 42 172 38 183 18 76 17 81 60 248 55 264 115 512
13 32 181 41 180 14 80 18 79 46 261 59 259 105 520
14 66 174 63 161 29 77 28 71 95 251 91 232 186 483
15 65 219 65 200 29 96 29 88 94 315 94 288 188 603
16 41 215 32 221 18 95 14 97 59 310 46 318 105 628
17 44 367 30 322 19 162 13 142 63 529 43 464 106 993
18 14 330 23 358 6 145 10 158 20 475 33 516 53 991
19 26 206 20 247 11 91 9 109 37 297 29 356 66 653
20 11 159 10 153 5 70 4 67 16 229 14 220 30 449
21 5 79 10 101 2 35 4 44 7 114 14 145 21 259
22 11 38 14 49 5 17 6 22 16 55 20 71 36 126
23 15 20 15 27 7 9 7 12 22 29 22 39 44 68
0 9 12 10 23 4 5 4 10 13 17 14 33 27 50
1 10 11 11 17 4 5 5 7 14 16 16 24 30 40
2 13 11 12 7 6 5 5 3 19 16 17 10 36 26
3 14 7 10 10 6 3 4 4 20 10 14 14 34 24
4 10 53 15 29 4 23 7 13 14 76 22 42 36 118
5 32 59 25 74 14 26 11 33 46 85 36 107 82 192

720| 3,853 753| 3,889 316| 1,698 330/ 1,712| 1,036| 5,551 1,083| 5,601| 2,119| 11,152

10.1-71




10.1-44

22 24 2
2020
2012 3
2020
2024

2

2

2

2

2

2

6)
10.1-62
0.00022ppm 0.00081ppm
0.00001mg/m*  0.00005mg/m? 0.00003ppmC  0.00012ppmC

0.00993ppm  0.01138ppm 0.01306mg/m®* 0.01316mg/m®

0.12016ppmC 0.12038ppmC

10.1-72



10.1-62(1)

ppm

0.00155 0.00041 0.01096

0.00170 0.00045 0.01115

0.00150 0.00075 0.01125

0.00146 0.00073 0.01119

0-009 0.00080 0.00025 0.01005

0.00071 0.00022 0.00993

0.00148 0.00078 0.01126

0.00157 0.00081 0.01138

10.1-62(2)

mg/m?

0.00011 0.00003 0.01314

0.00012 0.00003 0.01315

0.00010 0.00005 0.01315

0.00010 0.00005 0.01315

0-013 0.00006 0.00002 0.01308

0.00005 0.00001 0.01306

0.00010 0.00005 0.01315

0.00011 0.00005 0.01316

10.1-62(3)

ppmC

0.00026 0.00006 0.12032

0.00028 0.00006 0.12034

0.00024 0.00011 0.12035

0.12 0.00024 0.00010 0.12034

0.00015 0.00003 0.12018

0.00013 0.00003 0.12016

0.00025 0.00011 0.12036

0.00026 0.00012 0.12038

10.1-73




10.1.3

@
D
10.1-63
10.1-63
1 0.04ppm
53 7 0.06ppm
38
1 0.10mg/m?
48 5
25
2)

10.1-74




10.1-28
29

10.1-29

98

0.080
y = 1.1626x + 0.0154
—~ Rz = 0.0619
=
3 0.060
o/
© s o o & @
& e tatpe
0.040 . . 2RI
t $ ¢ o
* o
M
* * IS
0.020 —
*
0.000 : ‘
0.000 0.010 0.020 0.030
(ppm)
10.1-28 98
0.080
~ y = 2.0247x + 0.0048
E R2 = 0.6305
N
[@)]
E 0.060
*
o 33 §°
*
~ 0.040 S S S < A
= * ‘ *
L Rs
. 7y $s°
$ .
0.020 *
0.000 \ ‘ :
0.000 0.010 0.020 0.030 0.040
(mg/m?®)
10.1-29 2

10.1-75




10.1-64

0.037ppm 98 0.034mg/m?
2
10.1-63
7 48 5
10.1-64
0.04ppm 0.06ppm
0.01820 0.037 PP PP
ppm
0.01431 0.034 0.10mg/m?
mg/m?
98 2

10.1-76




¢))

D
10.1-65
10.1-65
1 0.04ppm
53 7 0.06ppm
38
1 0.10mg/m®
48 5
25
6 9 3
0.20ppmC 0.31ppmC
51 8
2)

10.1-77




98

2
1
6 9 3
3 10.1-30
5 29 3
3
0.30
~ y = 1.0262x + 0.0016
2 Rz = 0.9023
£0.25
o/ > *
*
*
* o *
0.20 L G
* o0
*
* o0
™ 0.15 - < -
* ¢
-2 T
(2]
0.10 .
*
-t
“ 0.05 -
0.00 ; : : : :
0.00 0.05 0.10 0.15 0.20 0.25 0.30
(ppmC)
10.1-30 6 9
3
10.1-66
0.027ppm 0.028ppm
98 0.031mg/m? 2
0.12ppmC 0.13ppmC 6 9 3
10.1-65

10.1-78




10.1-66(1)

ppm
98
0.01083 0.028
0.01102 0.028
0.01079 0.028
0.04 0.06ppm
0.01075 0.028
0.01003 0.027
0.00990 0.027
0.01079 0.028
0.01090 0.028
10.1-66(2)
mg/m?
2
0.01312 0.031
0.01314 0.031
0.01312 0.031
0.01312 0.031 1
0.01307 0.031 0.10mg/m?
0.01307 0.031
0.01312 0.031
0.01313 0.031
10.1-66(3)
ppmC
3

0.12028 0.13
0.12031 0.13
0.12026 0.13 0.20ppmC
0.12026 0.13 0.31ppmC
0.12017 0.12
0.12015 0.12
0.12028 0.13
0.12029 0.13

10.1-79




®
D

10.1-67

10.1-67

24

25 3

10t/km*/

2)

10.1-80




10.1-68

1.3 3.5 /km¥/

10.1-67 24
25

10.1-68

t/km?/
1.0 0.8 0.0 0.0 1.8
1.0 0.9 0.0 0.0 1.9
1.0 1.0 0.0 0.0 2.0
1.0 1.0 0.0 0.0 2.0
2.1 0.3 0.0 0.4 2.8
2.1 0.2 0.0 0.4 2.7
2.1 0.5 0.0 0.5 3.1
2.1 0.4 0.0 0.6 3.1 10t/km?/
2.1 0.2 0.0 0.6 2.9
2.1 0.2 0.0 0.7 3.0
2.1 0.3 0.1 1.0 3.5
2.1 0.2 0.1 0.9 3.3
1.0 0.2 0.0 0.0 1.2
1.0 0.2 0.0 0.1 1.3
1.0 0.2 0.0 0.1 1.3
1.0 0.1 0.0 0.0 1.1

10.1-81




4
D

10.1-69
10.1-69
1 1 0.04ppm
53 7 0.06ppm
38
1 1 0.04ppm
48 5 PP
25
1 1 0.10mg/m?
48 5
25
6 9 3
0.20ppmC 0.31ppmC
51 8

10.1-82




2)

10.1-83

98
2 6 9
3
3 10.1-31 10.1-34
5 29 3
3
0.080
y = 2.3164x + 0.0006
~ R2 = 0.9231
=
8 0.060
o/
3
0.040
0.020
M
0.000 ‘ ‘
0.000 0.010 0.020 0.030
(ppm)
10.1-31 98



0.008
y = 1.0874x + 0.0012
~ R2 = 0.5276 .
=3
< 0.006
*
~ 0.004 . .
* * *
0.002 . .
* *
0.000 ‘ : ‘
0.000 0.001 0.002 0.003 0.004
(ppm)
10.1-32
0.080
~ y = 1.7189x + 0.01
E R2 = 0.5841
(o))
E 0.060
*
~ 0.040
0.020
0.000 ‘ ‘ ‘
0.000 0.010 0.020 0.030 0.040
(mg/m3)
10.1-33

10.1-84




0.30

y = 1.0738x - 0.0017

~
(@]
s R2 = 0.8946
S

0.25

) p
* o * *
* o *
* o *
* o *
“0.15 DO
* * *
* * *
* *
<*
0.10 -

(o)}
© 0.05 .
*
0.00
0.00 0.05 0.10 0.15 0.20 0.25 0.30
(ppmC)
10.1-34 6 9
3
10.1-70
3
0.024ppm 98 0.006ppm
2 0.035mg/m* 2
0.17ppmC 6 9 3
10.1-70
0.04 0.06

0.01025 0.024 PP PP
ppm

0.00441 0.006 0.04ppm
ppm

0.01433 0.035 0.10mg/m?
mg/m? d

0.20ppmC 0.31ppmC

0.15540 0.17 PP PP

ppmC
98 2
6 9 3

10.1-85




®)

D
10.1-71
10.1-71
1 0.04ppm
53 0.06ppm
38
3
48 1 0.10mg/m
25
6 9 3
51 0.20ppmC 0.31ppmC
8
2)

10.1-86




98

2
1
6 9 3
6 9 3
2
10.1-72
3
0.027ppm  0.029ppm 98 0.031mg/m?
2 0.12ppmC 0.13ppmC 6
3
10.1-71
10.1-72(1)
ppm
98
0.01096 0.028
0.01115 0.028
0.01125 0.028
0.01119 0.028 0.04 0-06ppm
0.01005 0.027
0.00993 0.027
0.01126 0.028
0.01138 0.029
10.1-72(2)
mg/m?
2
0.01314 0.031
0.01315 0.031
0.01315 0.031
0.01315 0.031 11
0.01308 0.031
0.10mg/m?
0.01306 0.031
0.01315 0.031
0.01316 0.031

10.1-87




10.1-72(3)

ppmC
3
0.12032 0.13
0.12034 0.13
0.12035 0.13 0.20ppmC
0.12034 0.13 0.31ppmC
0.12018 0.12
0.12016 0.12
0.12036 0.13
0.12038 0.13

10.1-88




